a(d cot(d))

-

o(d @) (rad)

=
S
[
UL
—
.
.
.
'
——

1072

107 +* ﬁ """

. %¢‘{”¢ & ¢+¢

T T |||||||
:
—_—

107

T T |||||||
—

—

-

xS

NP EPEPRPRN PO 1110 I 100 PRI S 1

105

10
10

Ratl
Ratl

ey

B
T

T
|
N

1 0 1 2 3 %372 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

0.95!

—=— DQM_MKFIt5_T |oTu-|owr)t

—e— DOM_mkFit_TT_retrain-lowpt

—— DQM_mkKFit_TTold-lowpt

—— DOM_mkFit TT_NEWdefault_specPLess3-lowpt

SICEWACL
oloa) (cm)

1072k=:

B O I | X N T 1

=
@
&

iy

|
W[

[y

LR
|
N

-1 0 1 2 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

o p/p.)

H
S
ot

-1 o0 1 2 3
TP n (PCA to beamline)

L —
|
N



	Contents
	Page 1


